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CORE MATHEMATICS: NON-CALCULATOR

. Answer Mark Additional Guidance
1. a) 6.4<6.8 ii) 8.7>8.14 4 A4
59> 5.09 iv) 76=7.60 deduct 1 mark for each
, error
32.4>3.24 i)
b) seventy 2 A: 2
seven hundredths
c)|la=34 b =3.65
2. i) 50 M: 3
A:3
3. 4.81 i) 34.08 6 M: 3
A:3
4, 2048 ii) 4 A: 4
1024 iv)
5. 200 ii) 5 M: 3
A:2
must have units
6. 144 cm? i) 6 M: 4
A: 2
must have units
7. 0.6 i) 4 M: 2
A: 2
8. a) 2x2x2x3x3 4 M: 2
2x2x3x3x5 A2 .
allow indices
b) A:1
9. i)y 13 6 M: 3
18 A: 3
10. 3 M: 2
A: 1
11. 7 ii) 8 M: 4
12 iv) A4
12. z=7 ii) 4 M: 2
A: 2
13. 48 i) 4 M: 2
A: 2




Answer Mark Additional Guidance
14. p =180-114 5 M: 2
= 66° A3
s =180-132
=48°
w = 66°
15. b4
. |
A 2 5\ ‘
7 6 -4 3 2 1 l 4 5 7 8: *
.j ]
c| /|
f |
i) B drawn and labelled 2 A: 8
i) C drawn and labelled 3 deduct 1 for lack of labels
i) 1 (0.-1) , 180° 3 deduct 1 for lack of bracket
or comma
16.
;;u Yo 2’(_6/
4
3
2
1
% 5 4 5 % a0l 1 2 A 4 5 6 7 o F
1
=2
y = 2x - 6 drawn 3 A:3

credit e.g. table of values
accept no working




Q. Answer Mark Additional Guidance

17. 6 3 M: 2
A1
18. a) |40 3 M: 2
A1
b) | 15 1 A: 1
c) | 11 2 M: 1
A: 1
18. Trump’s Original: 38p x 9 = £3.42 3 M: 2
Trump’s Original is better value Al

must have units
19. £7 169 3 M: 2
A: 1

must have units

Total 100




